sglite3
matplotlib.pyplot plt
tim
datetime
mpl_toolkits.basemap Basemap

numpy np
scipy
pandas as pd
sklearn.cluster

scipy.cluster.hierarchy
loc_check LC
networkx nx|
itertools cycle , groupby
py lab boxplot
matplotlib.colors mcolors
unixTimeConvert
mpl_toolkits.axes_gridl.inset_locator
datetime timedelta
shapely.geometry MultiPoint
math radians, cos, sin, asin, sqrt
AIS_Analysis
AIS Plotting
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nodelist = pd.read_excel( ,Sheet_name= )
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nodelist[nodelist/|
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init_n_nodes = (liq)
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ig.sort_values(b
reg.sort_values(b
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iq.drop_duplicates(subset=[ 1,inplace=
.drop_duplicates(subset=[ 1,inplace=
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#reset index
1 drop )

igq.reset_index(inplace=
reg.reset_index(inplace=
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d.DataFrame(columns=1iqg.columns)
d.DataFrame(columns=reg.columns)

1,ignore_index=
_ reg_out.append(reg.iloc[ 1)
reg_drop = pd.DataFrame(columns=reg.columns)
for row in Jrange(0, len(1lig)-1):




AIS_Analysis.haversine(liql I[row],liql

lig_out = lig_out.append(liq.iloc[row_n],ignore_index=

lig_drop = lig_drop.append(liqg.iloc[row_n],ignore_index=

—
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0 range(0, lenl(reg)-1):
row_n = row
AIS Analysis.haversine(regl ][row], regl
reg_out = reg_out.append(reg.iloc[row _nl,ignore_index=

n_nodes_second = (lig_out)+ (reg_out)

# Plot liquefaction in red

Pos = [180,/90,-180,-9¢]1

x1, y1 = m(lig_out]| 1,lig_out| 1)
m.scatter(x1,yl, ,marker='0',c='red',zorder= )|

x2, y2 = m(reg_out|

m.scatter(x2,y2, ,marker='0',c3 blue',zorder= )]

node_out

node_out.reset_index(inplace=

Ilrowl, ligl

Ilrowl, regl

Ilrow_nl,liql

Ilrow nl,regl




